Algebra 1

Assignment

Draw a graph for each inequality.

1) p>-0.2

T4 2 a0 2 3 4

3) b>25

S4o3 2 -0 D

5) k>-2.7

A t—+—+— —t—t>
-4 -3 2 -1 0 2 3 4

7) x>1.6

T3 2 a1 o N

9) v<-1.8

T4 2 a1 o 2 3 a4’

11) x>0.8

T3 2 a0 2 3 4

13) x>1.8

S43 2 -1 0 R

15) k<1

T3 2 a1 o N

17) x>2.884

T3 2 a1 o T

ID: 1

Name
Date

2) x<-2.818

S43 2 0 2 3 4
4) n>-1.4

T43 2 a0 2 3 4
6) x>1.5

1 ——t>
-4 -3 -2 -1 0 2 3 4
8) n<-2.6

T4 2 a0 > 3 47
10) x>2.4

T3 2 a0 2 3 47
12) x>-1.4

S43 2 a0 2 3 4
14) a>-2.5

T3 a2 a0 2 3 4
16) b<-1.6

T4 2 a0 > 3 47
18) n>-0.5

NI I S A

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) p>-0.2
< : — =)
-4 3 2 - 1 2
3) b>25
< : —t =)
-4 -3 -2 -1 1 2
5) k>-2.7
=i . =)
-4 -3 2 -1 1 2
7) x>1.6
< : —0- =)
-4 -3 -2 -1 1 2
9) v<-1.8
e —it >
-4 -3 -2 -1 1 2
11) x>0.8
—~F———1 Ol =9
-4 3 2 -1 1 2
13) x>1.8
< ; — =
-4 -3 -2 -1 1 2
15) k<1
e — t >
-4 -3 -2 -1 1 2
17) x> 2.884
—~F———1 —t =
-4 -3 -2 -1 1 2

ID: 1

Name
Date Period
2) x<-2.818
i 4 —>
4 3 2 -1 0 4
4) n>-14
< : ! ->
4 3 2 -1 0 4
6) x>1.5
————+— =
4 3 2 -1 0 4
8) n<-2.6
S — : —>
4 3 -2 -1 0 4
10) x>2.4
< : : ->
4 3 2 -1 0 4
12) x>-1.4
A+ =
-4 3 2 -1 0 4
14) a>-2.5
—H—+ d =
4 3 2 -1 0 4
16) b<-1.6
G : —>
4 3 -2 -1 0 4
18) n>-0.5
T . — =
4 3 -2 -1 0 4



Algebra 1
Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) x<-0.3
S
3) a>04
<—4 —:3 -2
5) x<2.2
S
7) r>1.8
S
9) p<-2.1
<—4 —:3 -2
11) x> 1.6
S
13) b>2.8
S
15) n>-0.23
<—4 —:3 -2
17) p<-18

4 3 22

A\ 4

ID: 2

Name
Date
2) x>-1.5
4 1 AN
S T T T 7
4 3 2 -1 0
4) n>1.7
4 1 1 AN
N T T 7
4 3 2 -1 0
6) x<1.5
4 1 1 1 AN
S T T T 7
4 3 2 -1 0
8) m<3
4 1 AN
S T T T 7
4 3 2 -1 0
10) m>1.2
4 1 1 AN
N T T 7
4 3 2 -1 0
12) m>—0.8
&—1 1 1 1 AN
S T T T 7
4 3 2 -1 0
14) x>-1.19
&—1 1 AN
S T T T 7
4 3 2 -1 0
16) n>—1.89
4 1 1 AN
N T T 7
4 3 2 -1 0
18) a>-1.3
&—1 1 1 1 AN
S T T T 7
4 3 2 -1 0

Period



Algebra 1
Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

1) x<-0.3
e ——
-4 3 2
3) a>04
\—:4 3 =2
5) x<22
e ——
-4 3 2
7) r>1.8
T4 2
9) p<-2.1
€=
-4 3 2
11) x> 1.6
o
13) b>2.8
VRN
15) n>-0.23
\—:4 3 =2
17) p<-1.8
\ O
-4 3 2

A\ 4

Name

ID: 2

Date

2) x>-1.5

6) x<1.5
e . S S — } >
4 3 2 -1 0 1 3
8) m<3
L . . S ® >
-4 -3 -2 -1 0 1 3
10) m>1.2
< t O ——— 4
4 3 2 -1 0 1 3
12) m>—-0.8
e e ——
4 3 2 -1 0 1 3
14) x>-1.19
L e e e ——
-4 -3 -2 -1 0 1 3
16) n>-1.89
< : ——
4 3 2 -1 0 1 3
18) a>-1.3
Ot ——
4 3 2 -1 0 1 3

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) p<25s
NI S
3) x>-0.3

<—4 -3 2 —:l 0 1 2 3 )
5 v<-23

<—4 -3 2 —:l 0 1 2 3 )
7) v<2.8

<—4 -3 2 —:l 0 1 2 3 )
9) x<-1.54

A\ 4

A\ 4

A\ 4

A\ 4

ID: 3

Name
Date

2) n<14
Y43 2 -1 0 ’
4) b>1.1
Y43 2 -1 0 ’
6) x>1.4
Y43 2 -1 0 ’
8) r>-1.61
S43 2 a0 ’
10) n<0.8
NV I ?
12) x<-2.5
403 2 -1 0 ’
14) x>-1.2
Y403 2 a1 0 ’
16) r>-2.5
NV I ?
18) n<1.9
Y43 2 -1 0 ’

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) p<25s
€= e P>
-4 3 2 -1 0 3
3) x>-0.3
< —O ——
-4 3 2 -1 0 3
5) v<-23
€= o : >
-4 3 2 -1 0 3
7) v<2.8
€= o o >
-4 3 2 -1 0 3
9) x<-1.54
€= —t : >
4 3 2 -1 0 3
11) v>29
< —t *—>
4 3 2 -1 0 3
13) x<-1.1
€= —t 4 >
4 3 2 -1 0 3
15) v>0.3
- ——
4 3 2 -1 0 3
17) k< 0.2
€= . t >
4 3 2 -1 0 3

ID: 3

Name
Date
2) n<14
L —— e >
-4 -3 -2 -1 0 1 2
4) b>1.1
—~—— } } =
-4 -3 2 -1 0 1 2
6) x>1.4
& } — =
-4 -3 2 -1 0 1 2
8) r>-1.61
—~——  —— =
-4 -3 2 -1 0 1 2
10) n<0.8
e —— frm O——4 >
-4 -3 -2 -1 0 1 2
12) x<-2.5
S — —t—t >
-4 -3 -2 -1 0 1 2
14) x>-1.2
< : S =)
-4 -3 -2 -1 0 1 2
16) r>-2.5
——Om=d  —— =
-4 -3 -2 -1 0 1 2
18) n<1.9
e e >
-4 -3 -2 -1 0 1 2

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) b>2.6
&—1 AN
N T 1 T T T T T T d
4 3 2 -1 0 1 2 3
3) v>25
& 1 AN
N T d
4 3 =2 -1 0 1 2 3
5) n>-0.1
& 1 AN
N T d
4 3 =2 -1 0 1 2 3
7) m<-2.6
& 1 AN
N T d
4 3 =2 -1 0 1 2 3
9) m<2.6
& 1 AN
N T d
4 3 =2 -1 0 1 2 3
11) v <0.49
&—1 1 1 1 1 1 1 1 AN
N T 1 T T T T T T d
4 3 =2 -1 0 1 2 3
13) r<-2
ya N
N T 1 T T T T T T d
-4 3 -2 -l 0 1 2 3
15) v>-0.6
& 1 AN
N T d
4 3 =2 -1 0 1 2 3
17) x>-1.9
&—1 AN
N T d

-4 3 -2 - 0 1 2 3

ID: 4

Name
Date

2) a<-1.4
A —:3 2 -1 0 ’
4) n<-0.8
A —:3 2 -1 0 ’
6) n<1.8
A —:3 2 -1 0 ’
8) x<-2.8
Y43 2 -1 0 ’
10) b>0.78
S —:3 2 10 ’
12) x<-2.1
\—:4 —:3 210 ’
14) x<0.1
D /RS S S ?
16) k>-1.879
A —:3 2 -1 0 ’
18) r<-0.9
D /RS S S ?

Period



Algebra 1

Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

1) b>2.6
\—:4 3 =2
3) v>25
\—:4 3 =2
5) n>-0.1
\—:4 3 =2
7) m<-2.6
€= ®

-4 3 2
9) m<2.6
€=

-4 3 2
11) v<0.49
€=

-4 3 2
13) r<-2
€= @

-4 3 -
15) v>-0.6
\—:4 3 =2
17) x>-1.9

4 3 2

ID: 4

Name
Date
2) a<-1.4
S : : >
4 3 2 - 2
4) n<-0.8
e O } >
-4 3 2 - 2
6) n<1.8
e } Ch >
4 3 2 - 2
8) x<-2.8
Ct—i@ t t >
4 3 2 - 2
10) b>0.78
< : : : =)
4 3 2 - 2
12) x<-2.1
e } } >
-4 3 2 - 2
14) x<0.1
e e ——— } >
4 3 2 - 2
16) k>-1.879
< e} ¥ =)
4 3 2 - 2
18) r<-0.9
L ——— t >
4 3 2 - 2

Period



Algebra 1 Name

ID: 5

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) p>-0.1
B/
3) v>-2.74
<—4 —:3 -2
5 r<-24
<—4 —:3 -2
7) n>3
B/
9) r<i1.3
<74 j3 -2
11) a<-1.4
<74 j3 -2
13) x>-1.13
<74 j3 -2
15) x<1.8
<74 j3 -2
17) x<1.4

A\ 4

A\ 4

\4

\4

\4

\4

\4

\4

\4

\4

2) v<2.8
S 3
4) x>2.4
N _I4 _:3 _:2
6) v<-1.572
S —:3 -2
8) p>-2.6
S —:3 -2
10) n<2.7
AR
12) b>0.7
N js -2
14) b>04
N js -2
16) p>1.9
AR
18) n<0.93
A 7:3 -2

\4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) p>-0.1
e =)
4 -3 2 -1 0
3) v>-2.74
< o ->
4 -3 2 -1 0
5 r<-24
€= = —t >
4 -3 2 -1 0
7) n>3
At =)
4 -3 2 -1 0
9) r<i1.3
L >
4 3 2 -1 0
11) a<-1.4
€= —it >
4 3 2 -1 0
13) x>-1.13
< G =)
4 3 2 -1 0
15) x<1.8
L >
4 3 2 -1 0
17) x<1.4
€= o >
4 3 2 -1 0

ID: 5

Name
Date
2) v<2.8
e — i f O———>
-4 -3 -2 -1 0 2
4) x>2.4
—~—— } } =
4 3 2 -1 0 2
6) v<-1.572
e } } >
4 3 2 -1 0 2
8) p>-2.6
<——+O= : : >
4 3 2 -1 0 2
10) n<2.7
e —— } } >
4 3 2 -1 0 2
12) b>0.7
< : : : =)
-4 -3 -2 -1 0 2
14) b>04
< : : : =)
-4 -3 -2 -1 0 2
16) p>1.9
——— 4 @ =
-4 -3 -2 -1 0 2
18) n<0.93
e } } >
4 3 2 -1 0 2

Period



Algebra 1 Name

ID: 6

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) x<04
S
3) x<2.1
<—4 —:3 -2
5 n>1.8
S
7 r<1.7
S
9) x<-1.16
<—4 —:3 -2
11) p<-0.3
S
13) x>2.77
S
15) m<2.9
<—4 —:3 -2
17) x< 1.4

4 3 22

A\ 4

\4

\4

\4

\4

\4

\4

\4

\4

2) p<2.5
S —:3 -2
4) x>1.4
S —:3 -2
6) r<-04
S —:3 -2
8) r>04
Y4 3 o
10) x>-1.1
S —:3 -2
12) x<-2.8
DIV
14) x>1.9
DIV
16) n< 1.7
S —:3 -2
18) x<1.8
DIV

\4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) x<04
L — | : >
-4 3 2 -1 0 3
3) x<2.1
€= : : >
-4 3 2 -1 0 3
5 n>1.8
—~—— } ——
-4 3 2 -1 0 3
7) r<1.7
L — | : >
-4 3 2 -1 0 3
9) x<-1.16
€= C—t t >
-4 3 2 -1 0 3
11) p<-0.3
D : >
-4 3 2 -1 0 3
13) x>2.77
——— : Q===
-4 3 2 -1 0 3
15) m<2.9
€= i ® >
-4 3 2 -1 0 3
17) x< 1.4
L — | : >
-4 3 2 -1 0 3

ID: 6

Name
Date
2) p<2.5
e } } >
4 3 2 -1 0 2
4) x>1.4
< : : : =)
4 3 2 -1 0 2
6) r<-04
Gt - : >
4 3 2 -1 0 2
8) r>04
—~—— } } =
4 3 2 -1 0 2
10) x>-1.1
< : = : =)
4 3 2 -1 0 2
12) x<-2.8
i@ — t t >
-4 -3 -2 -1 0 2
14) x>1.9
<t : ® =)
4 3 2 -1 0 2
16) n<1.7
Gt oo 4 >
-4 -3 -2 -1 0 2
18) x<1.8
e — + L >
4 3 2 -1 0 2

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) x<-2.4

NI S
3) v<-0.98

< -4 -3 2 —:l 0 1 2 3 >
5 n<2.7

< -4 -3 2 —:l 0 1 2 3 >
7) p>2.8

< -4 -3 2 —:l 0 1 2 3 >
9) b>-1.39

A\ 4

A\ 4

A\ 4

A\ 4

ID: 7

Name
Date

2) p<-23
D /RS S S ?
4) r<i
S —:3 —:2 -1 (:) ’
6) m>2.02
A —:3 -2 -1 (:) ’
8) v>-0.3
A —:3 -2 -1 (:) ’
10) a>-1.8
IR ,
12) r>-2.9
A js I | (:) ’
14) p<-22
A js I | (:) ’
16) x<-1.3
DR S ?
18) k>1.9
Y43 2 -1 0 ’

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) x<-24
et O+——1 } >
-4 -3 -2 -1 3
3) v<-0.98
S o t >
-4 -3 -2 -1 3
5) n<2.7
. : >
-4 -3 -2 -1 3
7) p>2.8
<& t e o
-4 -3 -2 -1 3
9) b>-1.39
< : —
-4 -3 2 -1 3
11) b>2.2
< t —
-4 3 -2 -1 3
13) x<-1.2
€= Ck t >
-4 3 -2 -1 3
15) n>-1.7
< —t —
-4 -3 2 -1 3
17) n>-0.6
< @i =)

ID: 7

Name
Date
2) p<-2.3
et O —— } >
4 3 2 - 2
4) r<i
e e ——— } >
4 3 2 - 2
6) m>2.02
< t ; - =)
4 3 2 - 2
8) v>-0.3
< : : : =)
4 3 2 - 2
10) a>-1.8
< O : =)
4 3 2 - 2
12) r>-2.9
< : : =)
4 3 2 - 2
14) p<-22
€= O—t } >
4 3 2 - 2
16) x<-1.3
s } >
4 3 2 - 2
18) k>1.9
< t ; ® =)
4 3 2 - 2

Period



Algebra 1 Name

ID: 8

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) x>0.1
S
3) x<-2.176
<—4 —:3 -2
5 r>26
<—4 —:3 -2
7) a<0.7
<—4 —:3 -2
9) p<-1.9
<—4 —:3 -2
11) x>2.85
S
13) v<-2.8
S
15) n>-2.8
<—4 —:3 -2
17) x> 1.7

4 3 22

A\ 4

\4

\4

\4

\4

\4

\4

\4

\4

2) a<-2.419
St
4) b<1.6
S —:3 -2
6) v>2.2
\_I4 _:3 _:2
8) x<1.2
St
10) x<2.8
S —:3 -2
12) a>-22
St
14) n>-1.6
St
16) p>-2.9
S —:3 -2
18) b>-2.6
St

\4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

1) x>0.1
VRN
3) x<-2.176
€= @
-4 3 22
5) r>2.6
\—:4 3 =2
7) a<0.7
€=
-4 3 2
9) p<-19
€= -
-4 3 2
11) x>2.85
e
13) v<-2.8
Gt —+
-4 3 2
15) n>-2.8
——0
-4 3 2
17) x>1.7

4 3 22

Name

ID: 8

Date

2) a<-2.419
€=

4 3 2 -1

\4

4) b<1.6
e —— >
-4 -3 -2 -1 1 2
6) v>2.2
——t+—+— —i0 =)
-4 -3 -2 -1 1 2
8) x<1.2
L o —— {O— >
-4 3 2 - 12

10) x<2.8
e } >
-4 3 2 - 1 2
12) a>-2.2
< —0 : =)
-4 -3 -2 -1 1 2
14) n>-1.6
—H——t } =
-4 -3 2 - 1 2

16) p>-2.9

18) b>-2.6

&—1
<

4 3 2 -1

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) n>24
&—1 AN
N T 1 T T T T T T d
4 3 2 -1 0 1 2 3
3) a>-2.1
& 1 1 1 1 1 1 1 AN
N T 1 T T T T T T d
4 3 =2 -1 0 1 2 3
5) n<0.82
& 1 AN
N T d
-4 3 -2 -l 0 1 2 3
7) n<-1.1
& 1 AN
N T d
4 3 =2 -1 0 1 2 3
9) x> 1.6
ya N
N d

A\ 4

A\ 4

A\ 4

A\ 4

ID: 9

Name
Date

2) x>0.1
Y4 3 2 -0 ’
4) x>-0.6
Y4 03 2 -1 o ’
6) n<-2
Y43 2 -1 0 ’
8) x<2.8
Y43 2 -1 0 ’
10) x<-2.5
NV ?
12) x> 1.1
403 2 -1 0 ’
14) k< 1.8
Y403 2 a1 0 ’
16) a>0.5
Y403 2 a1 0 ’
18) x<1
Y43 2 -1 0 ’

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) n>24
& : —t =
-4 3 2 -1 1 2
3) a>-2.1
< = — =)
-4 3 2 -1 1 2
5) n<0.82
€= : o— >
-4 3 2 -1 1 2
7) n<-1.1
€= . —t >
-4 3 2 -1 1 2
9) x>1.6
< : Ot =)
4 -3 -2 -1 1 2
11) x<-1.6
€= t —t >
4 -3 -2 -1 1 2
13) b<2.1
€= i p— >
4 -3 -2 -1 1 2
15) x< 0.6
e o —— — >
4 -3 -2 -1 1 2
17) x<0.5
€= : —t >
-4 -3 -2 -1 1 2

ID: 9

Name
Date
2) x>0.1
< : : : =)
-4 3 2 - 12
4) x>-0.6
< : : : =)
-4 -3 2 -1 1 2
6) n<-2
S : : >
-4 -3 2 -1 1 2
8) x<2.8
e e ——— } >
-4 3 2 - 12
10) x<-2.5
et O———1 } >
-4 3 2 -1 1 2
12) x>1.1
< : : @t =)
-4 3 2 -1 1 2
14) k< 1.8
e — } o} >
-4 3 2 -1 1 2
16) a>0.5
—~F————1 } =
-4 3 2 -1 1 2
18) x<1
e } — >
-4 -3 -2 -1 1 2

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) x>3
&—1 AN
N T 1 T T T T T T d
4 3 2 -1 0 1 2 3
3) p>2.5
& 1 AN
N T d
-4 3 -2 - 0 1 2 3
5) x>0.4
& 1 AN
N T d
4 3 2 -1 0 1 2 3
7) x>-0.5
& 1 AN
N T d
4 3 2 -1 0 1 2 3
9) m<2.5
& 1 AN
N T d
4 3 2 -1 0 1 2 3
11) n<-2.8
&—1 1 1 1 1 1 1 1 AN
N T 1 T T T T T T d
4 3 2 -1 0 1 2 3
13) v<-14
&—1 AN
N T 1 T T T T T T d
-4 3 -2 -l 0 1 2 3
15) n>-1.7
& 1 AN
N T d
4 3 2 -1 0 1 2 3
17) m> 1.1
&—1 AN
N T d

-4 3 -2 - 0 1 2 3

ID: 10

Name
Date

2) r>-1
T4 2 a0 i
4) m<-1.51
A —'3 -2 -1 (') ’
6) x<-1.6
Y4 03 2 -1 o ’
8) n>-13
T4 2 a0 i
10) n>-2.4
A —'3 -2 -1 (') ’
12) n<2.9
Y4 03 2 -1 o ’
14) x<-0.2
A —'3 S (') ’
16) x>-2.2
A —'3 -2 -1 (') ’
18) b<2.73
Y4 03 2 -1 o ’

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) x>3
——t : =)
-4 -3 -2 -1 1
3) p>2.5
< : : =)
-4 -3 -2 -1 1
5) x>04
< : : =)
-4 -3 -2 -1 1
7) x>-0.5
< : : =)
-4 -3 -2 -1 1
9) m<2.5
e — = @———1—>
-4 -3 -2 -1 1
11) n<-2.8
bl ——— : >
-4 -3 -2 -1 1
13) v<-14
D s } >
-4 -3 -2 -1 1
15) n>-1.7
¢ —t d =9
-4 -3 -2 -1 1
17) m>1.1
< - =

—_

1D: 10

\4

\4

\4

\4

Name
Date
2) r>-1
&—— —@
4 3 2 -
4) m<-1.51
e t
4 3 2 -
6) x<-1.6
e t
4 3 2 -
8) n>-1.3
———+—@
4 3 2 -
10) n>-2.4
A —:3 -2 —:1
12) n<2.9
e e ———
4 3 2 -
14) x<-0.2
e e ———
4 3 2 -
16) x>-2.2
A —:3 -2 —:1
18) b<2.73
e e ———
4 3 2 -

\4

Period



